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4 50 35

;2#;     ;2!;     -1

-8 ;4!;

A, B x km

;3”0;+;2”0;=;2#;, 2x+3x=90  x=18

A, B 18 km .

x=3 y=3, 6, 9,

f(-1)=-2_(-1)+3=5
f(1)=-2_1+3=1

f(-1)+2 f(1)=5+2_1=7

P x -2 y=;[̂;

y= =-3 .

P(-2, -3) ,
y=ax

-3=a_(-2)  a=;2#;

A, B 1
x, y
50x=10y  y=5x
y=5x x=20 y=20_5=100

50-(3+6+8+11+8+3)=11( )

D=;4§0;=0.15

A BEFC A
BEFC .

! a cm
a<3+8  a<11

@ 8 cm
8<3+a  a>5

!, @ 5<a<11

6
-2

A={ 1, 2, a }, B={ 1, 3, a+2 } ,
A;B={ 1, 3 } 3<A

a=3

24=2‹ _3, 36=2¤ _3¤ , 96=2fi _3
(24 36) 96={(2‹ _3) (2¤ _3¤ )} (2fi _3)

=(2¤ _3) (2fi _3)
=2fi _3

101(2)=1_2¤ +1_1=4+1=5
.

.

0.5, +;6!;
2 .

A (-24)+6=-18

B (-18)_;3!;=-6

=(-6)÷(-2)=3

;bÅc;

;;ÅbÇ;

=

=

= _

______________________
÷÷÷÷÷÷÷÷÷÷÷÷÷÷÷÷÷÷÷÷÷÷ ÷÷÷÷÷÷÷÷÷÷÷÷÷÷÷÷÷÷÷÷÷÷

4=100(2) 4>11(2)

11000(2)=1_2› +1_2‹ =16+8=24
5 .

1234 2 200

111(2) .
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8 3 g 12

=135

=120

360
135 +120 + x=360 x=105

60 4=90 µCD µCD=6(cm)

8-4<6<8+4

2

AB” HI” .

.

l 1

3 cm, 4 cm, 5 cm
.

( )=p_3¤ +p_3_5
=9p+15p
=24p(cm¤ )

5(x-2)=3x-4
5x-10=3x-4, 2x=6  x=3
x=3 3x-a=5
9-a=5   a=4

GEF= DEG= x( )
DEG= EGF= x( )
EFG x+ x+80 =180

2 x=100 x=50

ABC
2 DBC=180 -(70 +50 )=60
DBC=30

2 DCF=180 -50 =130
DCF=65
BCD DCF= DBC+ x

65 =30 + x  x=35

180 _(6-2)
6

180 _(8-2)
8

1<A ,A n(A)=4

A={x|x 10 }

A,

B

n(U)=32, n(A)=9, n(B)=7

n(A;B)=2

n(A'B)=n(A)+n(B)-n(A;B)

=9+7-2=14

n((A'B)Ç )=n(U)-n(A'B)

=32-14=18

;¡n™;; ;;£nº;; n 12

30 , 12 30

.

12 30 6 .

a, -a

20

10

-10 10 10

a ;3&; ,

b -2 .

a-b=;3&;-(-2)=;3&;+;3̂;=;;¡3£;;

,

, ,

,

.

a÷b_2=;;™bÅ;;

3-x÷y=3-;]{;
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(5x-2)+(2x-1)+(-x)=6x-3
A+(-3)+(5x-2)=6x-3
A+5x-5=6x-3  A=x+2
(-x)+B+(3x-4)=6x-3
B+2x-4=6x-3  B=4x+1

A+B=(x+2)+(4x+1)=5x+3

-3c+1=3d-1 -1
.

-3c=3d-2

x=0 , y=-2
x=1 , y=-1
x=2 , y=0
x=3 , y=1

{ -2, -1, 0, 1 } .

{1, ;2!;} .

1, 3 .
x y

,
.

y=ax .
, (2, 600) (2, 300)

y=300x y=150x .
900 m

y=900 x=3 ,
y=900 x=6 .

3 6
3 .

60

10+6=16( ) ;4!0̂;_100=40(%)

COB=180 -90 =90
DOE= x, EOF= y
COD=2 x, FOB=2 y
COB= COE+ EOB

=3 x+3 y=90
x+ y=30

DOF= x+ y=30

BC AF”,
EF”, DF” 3 , BCE

AD”, DF”, AF” 3
a=3, b=3 a+b=6

OA”=OB”( O )
OP≥ XOY
XOP= YOP

AP”=BP””( A, B )

360
60 +(180 -100 )+57 +63 + x=360

x=100

0…d<6 .( )

PA” OA”, PB” OB”
AOB=360 -(60 +90 +90 )=120

360 -120 =240

( )=p_6¤ _

=24p(cm¤ )

240
360

n
(n-3)

n
n(n-3)

2

d=6 .( )
d>6 .
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17 3 cm 15

( )=;3!;_{;2!;_6_6}_12

=72(cm‹ )

1000(2) 1111(2)

1000(2)=1_2‹ =8
1111(2)=1_2‹ +1_2¤ +1_2+1_1

=8+4+2+1=15
8 15 8

.

x g ,
4x+2_3=8_2+2

4x=12 x=3(g)

(80 )
=1-(0.02+0.1+0.16+0.28+0.2)=0.24

80
50_0.24=12( ) .

2¤ _3¤ , 2‹ _3¤ _5
A=2¤ _3¤ =36
B=2‹ _3¤ _5=360

A+B=36+360=396

1
, 0 .
14=1110(2)

1110(2) .

(-5)+(-1)+(+2)=-4
A+(-7)+(+2)=-4 A=1

B+(-3)+A=-4 B=-2
B+C+(-5)=-4 C=3

A+B+C=1+(-2)+3=2

-1 .

( )=1-[;2!;+(-1)÷(-4)]_4

=1-{;2!;+;4!;}_4

=1-;4#;_4

=1-3=-2

4 x 1 ;4{;

x 3 3x+c
A=3_2+c=6+c
B=3_(-1)+c=-3+c

c
A-B=(6+c)-(-3+c)

=6+c+3-c=9

;3$;(x-3)=;2#;- 6

8(x-3)=9-3(1-x), 5x=30  x=6
, a=6 .
a¤ -5a=6¤ -5_6=36-30=6

x
(56-x)

(56-x)+8=3(x+8), 64-x=3x+24
4x=40  x=10( )

f(x)=3x y x
f(1)=3_1=3
f(2)+f(3)=6+9=15

{ x|0<x…5 }

A(a, b) 3
a<0, b<0

, -a>0, ab>0 B(-a, ab)
1 .

y=;[A; x=3, y=4

4=;3A;  a=12

y=;¡[™;; x , y

x 12 .

1-x
2
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n =30 n=12

20 cm
90

.
( )

=(20_20)-{p_20¤ _ }

=400-100p(cm¤ )

6
9

;3!;_{;2!;_4_6}_3={;2!;_4_x}_3

12=6x  x=2(cm)

U={ 1, 2, 3, 4, 5, 6, 7, 8, 9, 10 }
A;B={ 5, 7 }

{ 2, 3, 4, 8 } .
2+3+4+8=17

A’M”=;2!;AB”=6(cm)

AN”=N’M”=;2!;A’M”=3(cm)

a=8-3=5

b= =20

b-a=20-5=15

8_(8-3)
2

90
360

360
n

(1, 12), (2, 6), (3, 4),
(4, 3), (6, 2), (12, 1) 6 .

10 .
( )=3+4+6+9+8+7+3

=40( )
.

15
70 80

75 .

A O 2 1
2x, x .

, 1
2x+0.37+x+0.18=1, 3x=0.45 x=0.15
, A 2x 0.3 .

A
200_0.3=60( ) .

l n n

n m
( x+30 )+ x=70
2 x=40

x=20

.
AD” BE”, CG” 2 .

ABC AD”, BE”,
CG” 3 .

ABED ABC, BEF,
ADGC, DEFG 4 .

.

.

180 _ =301
5+1

U

A B 6

9

4

8

5

7

2
1

10
3

l

n

m

x+30
x

x

x+30
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W Now it’s time for ‘Hot Interview.’

Today’s guest is a famous movie star

Lee Junki. Good afternoon, Mr. Lee.

M Good afternoon.

W Welcome to our show.

M Thank you for inviting me.

W I have some questions about you and

your movies.

M Let’s go shopping.

W Sorry, I can’t.

M Why?

W Because I have a cold. I have a

headache, too.

M That’s too bad.

W I moved last week. Would you like to

come and see my new house?

M Great. Where is it?

W It’s next to the bank on Main Street.

There’s a big tree behind my house.

interview, guest, show

Speaking.

from

same

B

Bill

M Can I help you?

W Well, I’m looking for a present for my

mom.

M How about this bag? It’s hand-made,

but not that expensive.

W How much is it?

M It’s $40. Isn’t it cheap?

W Yeah, but I don’t have enough money.

M I’ll give you a discount. How about

$30?

W How nice! But I’ve got only $25 now.

M It’s OK.

W Thank you very much.

M How about surfing the Internet?

W I’m sorry. I don’t like computers.

Let’s do something different.

M Okay. Then shall we take a walk?

W Sounds good.



W What’s your favorite subject, Tony?

M I like music most. I like English and

art, too. How about you, Sally?

W My favorite subject is science.

Susan

M What does Susan look like?

W She has long hair. She’s wearing a hat.

M Is she wearing a skirt?

W No, she isn’t. She’s wearing pants.

M Oh, I see her.

M Don’t be too noisy.

Make your own food to eat.

Please wait until you’re served.

Don’t talk with your mouth full.

Don’t let the children run around.

W This is a sea animal. It’s a black and

white sea bird. We can see this animal

in the Antarctic. It cannot fly but uses

its short wings for swimming.

doesn’t he

don’t they

(e)s

has have studies study

drinks drink don’t doesn’t

What’s the weather like?

(=How is the weather?)

How do you like the weather?

Lucy

be be

do

��
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sports

holiday

be have, like

take a picture

take care of

take

Closed Mondays

M What’s on channel 35?

W Music Show.

M Can I watch movies on channel 36?

W Yes, you can.

M What is your favorite program?

W I like cartoons on channel 37.

M I want to watch some news.

W It’s on channel 70.

M Is channel 71 the sports channel?

W Yes, it is.

fire station train station

beautiful, bright, fresh, warm, happy

Mark

Travel Guide

take a break

M What time does the concert start?

W At 8 o’clock.

W There is a ball under the chair.

There is a dog on the bed.

There are apples under the table.

There are chairs in the room.

There are books on the desk.be
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No problem.

ABC

Joe

Yesterday

go went

What do you think of~?

CD

Jenny CD

W Can I help you?

M I want to send this letter to England.

W Would you like to send it by airmail?

M How much will it cost?

W It will cost you $2.

M OK. Here you are.

W Hello.

M Hi, Jenny. This is David.

W Hi, David. What’s up?

M Oh, nothing much. Would you do me

a favor?

W Sure. What is it?

M Can I borrow your CD player? Mine

is not working very well, and I have

some new CDs.

W Okay. Come over to my house.

M Thanks.

M May I help you?

W I’d like some apples and bananas.

M I’m sorry. We don’t have them now.

W Oh, do you have any grapes?

M Yes, they are right over there.

W I’ll take one pound of grapes.

M Here you are.

M 8 o’clock? Then we have only 20

minutes.

W We have to hurry. We’re going to be

late.
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A V B C
+ D + E

A B C D

A
B

C

-
=30N-5N=25N

P _V =P _V 1_4=2_x

x=2(mL)

B

D

;1¡0; 100

400
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A B C D
S

(+)
(+)

A B
A
B

A B

(P_V= )

V†=Vº+Vº_ Vº=10L, V†=20L

20=10+10_ , t=273æ

42æ

= _

600 =20 _

=30

A B C

V U

t
273

t
273
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C
A

A C B

18 cm

;6!;

;6!; 3 cm

120

CD

S
P

P S P
S

S
P

(A)

A B (+)B-A(-) B
D (+)D-B(-) A

C (+)A-C(-)
(+)D-B-A-C(-)

(+)
A

(-) B (+)
C B (-) D C (+)

A B C

A B B C

A B C D
E F

_ =
1 _200mL=4 _A,

A=50mL
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A B C
D E
C

A B C D

U

A B C D
E

D
BTB

A BTB
B, C, E BTB

1

20N 6 cm=80N x x=24 cm

2.5km

A 4
6 A B 6m

6

A B C D

(-)

(+)
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42 6 48 cm¤

B-A={ 3 }

2 .
18 21 3

.

12, 6, 5
60 .
, 60÷12=5, 60÷6=10, 60÷5=12

5 ,
10 , 12 .

12_10_5=600( ) .

10(2) 1_2=2
1100(2)=1_2‹ +1_2¤ =8+4=12
A={ x|x 2<x<12 }
={ 3, 5, 7, 9, 11 }
n(A)=5

-;3!; .

-;8!;_ ÷;2¢5;-;7#;=;7$;

-;8!;_ _;;™4∞;;=;7$;+;7#;

-;3@2%;_ =1    =-;2#5@;

( )=4_(x-5)+(x-4)_5
=4x-20+5x-20=9x-40

- =-2

6 2(x-2)-3(x+1)=-12
2x-3x-7=-12 x=5

a=-12, b=-7, c=5
a+b+c=-14 .

x+1
2

x-2
3



(3x-1) 2=(2x+5) 7
7(3x-1)=2(2x+5), 21x-7=4x+10
17x=17 x=1
x=1 3x+a=2(x+1)
3+a=4    a=1

f(1)=3, f(2)=6, f(3)=9
{ 3, 6, 9 } .

D(-2, -3) x y
.

y=;[A; x=2, y=30

30=;2A;, a=60  y=;;§[º;;

y=;;§[º;; x=5 y=;;§5º;;=12

4 8
40-(6+8+14+4)=8

( )=

= =10.2( )

70 80 .

AD≥ A D
DA≥ D

A

60 +70 = x x=130
60 + y=180 y=120

x+ y=250

IF” AD”, DJ”,
DH”, EH”, HG” 5 .

ABC ADE
AB”=AD”, A , ABC= ADE

ABC™ ADE(ASA )

=108 .

O' r'
7+r'=15    r '=8(cm)

O' 8 cm

180 _(5-2)
5

408
40

2_6+6_8+10_8+14_14+18_4
40

OC”
AO”=CO” CAO= OCA
AC” OD” DOB= CAO( )

CAO= OCA=30
AOC=120

2 µAC=30 120 µAC=8(cm)

2pr=8p r=4(cm)
( )=(p_4¤ )_2+8_8p

=32p+64p
=96p(cm¤ )

x

;2!;x+;3!;x+;7!;x+1=x

21x+14x+6x+42=42x
-x=-42  x=42

42

y=;3!;x x=a, y=2

2=;3!;a a=6 P(6, 2)

( )=;2!;_6_2=6

l 1
4 cm ,

6 cm .
,

8_6=48(cm¤ )

��



tight size

cheese sandwich

W I have two tickets to ‘Superman’ for

tonight. Would you like to go?

W Last Sunday was my sister’s birthday.

So my family went to the department

store. My parents bought a sweater for

my sister. My brother bought some

books. I bought a doll for her.

M May I help you?

W Yes, I want a cheese sandwich.

M Anything else?

W Yes. An orange juice, please.

M One cheese sandwich and one orange

juice. Thank you.

M How can I help you?

W I’d like to exchange this shirt.

M What’s wrong with it?

W It’s too tight.

M Would you like a bigger size?

W Yes, please.

Tony

Robert

Tom

Tom’s Ben’s   

Ben’s Tom’s

brothers cousins

granddaughter daughter

Jenny

John

W Tony, can I ask you a favor?

M Sure, what is it, Jane?

W My computer is broken so I can’t

finish my homework. Can I use your

computer now?

M Of course.

W Thank you so much.

M Thanks. I’d love to. What time is the

movie?

W It’s at 7:30.

M Good. Do you want to have dinner

with me before the movie?

W Okay. How about meeting at the

theater at 6:00?

M That sounds fine.

��



Danny

Kevin
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V†=Vº_{1+ }=50_{1+ },

V†=100mL

B

A B

273
273

t
273

40æ

8 1N
8N

=3m/s

1 0.6
AO OB

O

(D)

C S

3
( )

+1

A (+) B (-)

(-) A, B
A (+) B

(-)

12m
4s


